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Example : 1

Subtract 17 - 6
Solution:

1 7

0 6

1

1 5

0 6

1 1

Step 1 :
In ones place, Subtract 6  from 7.

So, 7 - 6 = 1.

Write 1 in ones place.

Step 2 :

In Tens place, Subtract 0                       f               r         o        m                1       .

So, 1 - 0 = 1.

Write 1 in ones place.

So, Answer is  17 – 6 = 11 

-

-
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Step 1 :
In ones place, Subtract 1 from 3.

So, 3 - 1 = 2.

Write 2 in ones place.

Step 2 :

      In tens place, subtract 1 from 1

      So,  1 – 1 = 0

      write 0 in tens place

Example : 2

Subtract 13 - 11
Solution:

So, Answer is  13 – 11 = 2 

-

-

1 3

1 1

2

1 3

1 1

0 2
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Example : 3

Subtract 28 - 16
Solution:

2 8

1 6

2

2 8

1 6

1 2

Step 1 :
In ones place, Subtract 6 from 8.

So, 8 - 6 = 2.

Write 2 in ones place.

Step 2 :

      In tens place, subtract 1 from 2

      So,  2 – 1 = 1

      write 1 in tens place

So, Answer is  28 – 16 = 12 

-

-
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Example : 4

Subtract 36 - 12
Solution:

3 6

1 2

4

3 6

1 2

2 4

Step 1 :
In ones place, Subtract 2 from 6.

So, 6 - 2 = 4.

Write 4 in ones place.

Step 2 :

      In tens place, subtract 1 from 3

      So,  3 – 1 = 2

      write 2 in tens place

So, Answer is  36 – 12 = 24 

-

-
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Example : 5

Subtract 42 - 21
Solution:

4 2

2 1

1

4 2

2 1

2 1

Step 1 :
In ones place, Subtract 1 from 2.

So, 2 - 1 = 1.

Write 1 in ones place.

Step 2 :

      In tens place, subtract 2 from 4

      So,  4 – 2 = 2

      write 2 in tens place

So, Answer is  42 – 21 = 21 

-

-
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Example : 6

Subtract 55 - 32
Solution:

5 5

3 2

3

5 5

3 2

2 3

Step 1 :
In ones place, Subtract 2 from 5.

So, 5 - 2 = 3.

Write 3 in ones place.

Step 2 :

      In tens place, subtract 3 from 5

      So,  5 – 3 = 2

      write 2 in tens place

So, Answer is  55 – 32 = 23 

-

-
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Example : 7

Subtract 67 - 33
Solution:

6 7

3 3

4

6 7

3 3

3 4

Step 1 :
In ones place, Subtract 3 from 7.

So, 7 - 3 = 4.

Write 4 in ones place.

Step 2 :

      In tens place, subtract 3 from 6

      So,  6 – 3 = 3

      write 3 in tens place

So, Answer is  67 – 33 = 34 

-

-
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Example : 8

Subtract 79 - 42
Solution:

7 9

4 2

7

7 9

4 2

3 7

Step 1 :
In ones place, Subtract 2 from 9.

So, 9 - 2 = 7.

Write 7 in ones place.

Step 2 :

      In tens place, subtract 4 from 7

      So,  7 – 4 = 3

      write 3 in tens place

So, Answer is  79 – 42 = 37 

-

-
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Example : 9

Subtract 88 - 26
Solution:

8 8

2 6

2

8 8

2 6

6 2

Step 1 :
In ones place, Subtract 6 from 8.

So, 8 - 6 = 2.

Write 2 in ones place.

Step 2 :

      In tens place, subtract 2 from 8

      So,  8 – 2 = 6

      write 6 in tens place

So, Answer is  88 – 26 = 62 

-

-
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Example : 10

Subtract 95 - 53
Solution:

9 5

5 3

2

9 5

5 3

4 2

Step 1 :
In ones place, Subtract 3 from 5.

So, 5 - 3 = 2.

Write 2 in ones place.

Step 2 :

      In tens place, subtract 5 from 9

      So,  9 – 5 = 4

      write 4 in tens place

So, Answer is  95 – 53 = 42 

-

-
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